Four Figure Grid References

Shade in the following grid squares. You will see three objects.

Object 1 e -

0243 0339 0439 0434 0643 0639 0438 0433 0241
0442 0539 0432 0240 0441 0436 0431 0640 0641
0435 0430 0437 0443 0239 0440 0642 0242

Object 2
0843 0838 0940 0935 0842 0837 0939 0934 0841

0943 0938 0933 0840 0942 0937 0932 0839 0941
0936 0931 0930

Object 3
1242 1243 1234 1230 1339 1239 1237 1233 1341

1338 1139 1241 1232 1340 1138 1235 1231 1142
1342 1238 1140 1240 1236 1141
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What would you be doing if you were using all three objects?



